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1. The curve defined by the equation y = 2-z o’ has
’ y 4 v= z2+4
2
K+4FO6 sSo New are A. no asymptotes

no e viie L as )zm P ‘}\o feS B. exactly one horizontal asymptote

/Q}M 2 —x — K?- o | and one vertical asymptote
X—) * 00 < 4 = X«Q»‘/VV\) o E___ZEL @exactly one horizontal asymptote

- P+ X - and no vertical asymptotes

- ' D. exactly one vertical asymptote

and no horizontal asymptotes
o g =~ IS Ne on ’)’ l’\O"l ');Uh+uQ E. exactly two horizontal asymptotes
as 7 . \3 to Te . and no vertical asymptote

2. Find an equation of the line tangent to the curve with the equation y = L at the

point where z = 3. Ve
whon o = 3 _ N x+6\/§y=9
7 81 . = B. z—-3y=3-3
/5/ = Ix = x—/L C. V3z+9y =63
n - l D. z+3y=3+3
= —3:7( = = JX\)? E. z—-6V3y= -3

!
|-
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3. For the function u whose graph is given, arrange the following numbers in decreasing
order: u'(-3), u'(-2), 0, v'(0), w'(1).

/7]

P Fvomm De 9\/0\\3\f\’

W(er) 2 50 A (-3),w(-2),w(0),w(1),0
/ u'(ﬂ) A 9. B w(=2)w(0),0,w(1),w(-3)

N G0 (),w(0), (=), w(-3)

-3 \ o) & (D (=9, u(~2),0,u(1),(0)

et 2
{AU) ~x T2 E 0w(),v(0),w(-2),w(-3)

1 ¢ /
o W(=3)> (=) 20 Y1) > (o)

4. al;l—>m1 a:::_—l is the derivative of some function f at some number a. find f and a.
‘f(x):xﬁ, a=1
L jn w - £l B. f(&)=1% a=0
X =) G X C. f(z) =62° a=
N _X@ oncl A =] D. f(z)=62° a=0
L E. The limit doesn’t exist
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5. A ball is thrown upward from the ground with an initial velocity of 160 ft/sec. Its
height above the ground, in feet, ¢ seconds later is given by s(t) = 160t — 16¢2. Its
velocity when t = 2 is

TEF sk)= lbot ~let = L\etjhr

A. 64 ft/sec
Veloci Ty = 8'#1< leo 30 @t
SI@) = [0 - G)q 7’96 C. 32 ft/sec

D. 106 ft/sec
E. 128 ft/sec

6. The graph of f(z) = 2z — e” has a horizontal tangent when z =

Thew 15 @& hovi 2ontal TMjemT’ A. g‘
whan  £'@) =0 - p. 122
X
fx1=z ax —¢ C. e?
i N 67( D. eln2
‘FQ\' - - @InQ

X

—

T a-ef=o, e =79

/
K:/Q/r\a

which 1mplies
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7. If f(z) = |z — 2|, then f'(2) =
X =17 F X = 2.
|x-2| = E ‘

>
o

—x+a. 1F x<d 1

w

X—2 — 0O
w = ‘/Q/W‘/‘,r ~——-'—'“"":" C. 1
x— 2% X - 2 X1 2 X—2 D. o
Lﬂ\/\ ‘EO‘) -‘—(L) - ,Q/wa X422 - O__:_._,) @Doesnotexmt
X 9 X—2
X3 x_g\

8. Let f(z) = (a* — 3z +1)( ~ V&). Then £/(1) =

_ 3
= o [ 55) )] ©)
_ 2 - >
g = VE) w0 2
- 7
S C. 3
D _3
) 2
g 2
2

9. If g(t)=% then ¢'(1) =

g3 -3

" = (e &)(at) =€ (.\ ‘_t_;) AL
@ >\ ’
e+ %) 3

Jea = (—2) 5

B
( C. 2
_ = =2 5
9(']-' P 9 §
B >
8
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10. If f(x) = ( ] and f(2) =4, f’(2) =3 and g(2) =2, then ¢'(2) =

] —_ x cq'(x) 3
Q((x): 20 BX — ¢ 5
(200)) B. 1
S 1 x=13. - -1
Fa = 9 ()" I:le;LCL) D. 4
5. 2en - 8(3,@))
| 4
2 = b -2 91(1)
° ! )
® © 9\ - -
§'e) = =
11. The graphs of f and g are shown below. Let u(z) = f(x)g(x). Find v/(2).
%4
1’ Q@\)_ 5 A 3
e > % B. g
-
= HA / f 3@):} ' 5
N, A, T C. —=
N 14 / | -2 _ _\ 2
ANAN T = =TT
‘= | =) 2
Q)= N 9
¢ + - OF

w'e)= Ha @ + g te)

\

v 5‘ o \— —
A L -
I 9
:45’\"

PREERET g

o~
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d
12. If y = tan~1(3z?), find % when z = -1.

5
—_— = '_—‘-—‘4.‘(0)( 3
x - T ax

A.
3
__2 &)-;
C&”ﬂ‘, :"I‘IS"(,‘-%)_‘ g .

3
O | x=~I 5
1
D. —
10
1
E. ——
10

13. Find dy if 4cosysinz = 2.
dx

d — —siny +coszx
9\—‘(4 o4 5 In X) = /LQJ O A sinz + cosy
cosysinx
B. —_—
¢ oS GO X + (_S In SN X> cos T siny
L*— ( y x g Ocosycos:c
‘ M wg_ &>y sinysin
. —-&}" — zm% S In X D. cos T siny
cosysinx
E cos? x
’ sinzy

14. Let y? = 5z* — z2. Find the slope of the tangent line at the point (1, —2).

cx— x*) A9
) = gl 5 o
Q*gii::xoxz-gx c. !
A , ;
—(-9;\d:_: 10X — X "5
AR ¢ g 9
4

dy | _ o=l ._4a

&Jx y= | — 7 9\

g:-—l



